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—L QB PLAY PLAYER(S) ¥—K TFP PLAYER(S) G/NG
WEBEKXE |1 2:37 FUM | #20 fak At 28 K |#21 T XE L G
BEKE |1 5:08 P |#25 i &EN 12 K | #21 T RB L G
BWERKE | 2 | 00:23 P | #25 iR &N 63 K |[#21 M XBL G
FEKE | 2 0:33 KR |[#15B&EEK 63 K | #55 #KHAA#k NG
WEKE | 2 6:08 FG |#21 T AR+ 14
WERKZE | 2 9:52 FG |#21 T ARB L 7
Bk KZE | 3 1:11 P |#25 i &EN K |#21 TRB L NG
mxKZE |3 6:56 SAF
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H= |48 Bk B3 | ¥—FK | TD [ INT

15|BERE 27 12 157 3| 2
RUSH INTERCEPTION
S |48 [#% | ¥—FK| TD £S48 @#% | ¥*—F | TD
99 BIRTTH 10 54 1 9 BMRGE 371 0
13 A 3 1 0
15 BE®WE 4 4 0
23 EFRA 3 Ab 0
20 = ki) 1 8 0
30 HNER 2 14 0
95 BRTERAA KX 1 0 0
RECEIVE QB SACK
H= |48 [#% | ¥—FK| TD ES |4 @4 | ¥—Fk
25 EEEN 6 113 3 56 =
11 T=F 1 11 0 95 FRIEBAA K
18 | A== —8f 1 12 0
88 R 2 16 0
12 ) 1 8 0
23 EFRA 1 A3 0
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8|IRAXE 18 4 49 o] 2
RUSH INTERCEPTION
&S |%H El# | v—F | TD H55 |4 Bl | v—F | TD
15 WEEE 11 11 0 15 HWaEE 0
8 R&ELE 7 6 0 81 =y-yicd 1
43 BRED 5 23 0
13 =k 1 4 0
44 NIEE 2 0 0
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81 EBfE 2 26 72 I EEd 15
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